A o o

Lsw 27

/)

DNEFN

Y/

SITTINLIOVYINOD NON SFINNOAT
vIa - a43sepe) [9g: (5)221nos

‘elloulAy| 9p Jaydo.iddeu
SNOA 9P SUOJ|I9SUOD SNOA

€220 5850 7850 snou 19 Jiedipui,nb 1so,u ueid )
220 590
9
1650
= n3d — 6610
£850
650 0850 5610
mvcwaml_ i 74 2850 090 2% S
4 SO
6090
1850 650
250 60
£090
LS
) 91T YhET
850 N, 6L
s £961
T66T = -
£590 1y 0
5 o % o 1190
St = 7/ 020, S961
6190 181 PHTT 0, 8
@ 2890
890 9.50 9%
S 0 61 1660
$9£0 oD
6b81 690 =0 @ 0
ov81 £9L0 €120
04£0 ol €920 0€£0
€641 061
6€8T 5 o e
9590 6540 SEL0
2940 z€L0
6L1
vLL0 1940 /' 85£0 9€£0
L120 ¥8/0 &0 /8.0
5440 611\ 7671 w3
2o, 150
6001
L 980 880 LELO
1611 @
¥E20
Zh61 SREL0 </ 190
68£0 €520
150
6€L0
1120 1 20¢ 6vL0
0540
62 6210
£e0e 3
£801
1610 i
0020
6,050 e
96L0
29t i
920
5640 ¢ o2 ot 10
8ITT
£991
5080
0720 8991
9180 (180 4 190
9080 6780 -
9997
N I8y 5991 i
ouidod.e t653
1 0857
L bbL0 8790
ONIdOJdVYO V10ddVS 3d INNIWINOD e 2
2191
AN | L 70 RN T~ Theoe C 259




